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 

 

 

 

 π, √2, √3

1. 4, 11, 18, ………

(25, 24, 31, 32) 

2. 'O' A, B, C, D
∠BAD = 70˚ ∠BCD

(140˚, 110˚, 20˚, 70˚) 

 

 

 

 

3. ∠ A = 90˚, ∠B = ∠C =  45˚ 
AB = 6 BC

6 6√2 6√3 12 



 

D                  C (7, 7) 
 

 
 
 
 
 
 
 
 
 
 
 
 

A (1, 3)                                                                                                   B 
 

                             A      
 
 
 

                 O          130o                                                             P 
 

 
 
 

                               B 

4. X

((3,2), (-3, 2), (0, 5), (5, 0)) 

5. P(x) = x2 + 3x + 1 P(0)

(0, 1, 2, -1) 

6. 

12,  8,  13,  15,  9,  16,  11 

7. 5n+2
a) 
b) 

8. 

a) x 

b) 

9. ABCD

A(1, 3), C(7, 7) B, D

10. O A, B
P 

a) ∠OAP
b) ∠AOB = 130˚   ∠APB 
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8 െസ.മി 
 

                                                                        120o       

   A                              12 െസ.മി                      B                                                   

11. 3 

12. AB, CD P
PA = 15 PB = 8 PC 2
PD

a) PC x PD
b) PC x

c) PC

13. 

a) 
b) 
c) 

14. 70˚, 80˚

15. 

a) 
b) 
c) 

 

16. ABCD AB = 12 AD = 8 ∠B = 120˚

a) ∠A
b) D AB

c) ABCD

17. 
a) 
b) 

18. Y (5, 2)
a) X
b) 
c) Y
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           B                   
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                                                      40o  
P                                         A                                                    Q’ 
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           R(3, 3)                                              Q(5,4) 
 

 
 

   

 
 

       A                                         P (4,2)                             B                                                   
 
 

19. P(x) = x2-7x+12
a) P(3)
b) P(x) (x-4)
c) P(x)

20. ABC P,Q,R

P(4, 2), Q(5, 4), R(3,3)
A, B, C 

21. 

22. A, B, C, D PQ, A
∠ADC = 110˚ ∠DAQ = 40˚

a) ∠ACD 
b) ∠ABD 
c) ∠ABC 
d) ∠PAC 

23. 
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              60o                                                                                                            60o           

                                                          30 െസ.മി 
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             45o                                                                                                                                     30o           

   B                                                  D                 C 
 
 
 

24. 

a) 1+2+3+4+.....................................+40 
b) 4+8+12+16+................................+160 
c) 6+10+14+18+..............................+162 
d) 10+18+26+34+...........................+322 

25. 

a) 
b) 17-x
c) 

26. AC = 20 ∠B = 45˚, ∠C = 30˚.   
AD BC 

a) ∠BAC
b) AD
c) ABC
d) 2:3:7

27. a) X, Y A(-1, 1), B(5, 1)

    b) AB D D

    c) ABC C

28. 

a) 
b) 
c) 
d) 

29. P(x) = x2-7x+8 
 

a) P(1)
b) P(x) - P(1)
c) x2-7x+k

(x-6) k
d) P(x)-P(1)

30. a)

     b)

     c)

     d)



 

31. 

a) 
b) 
c) 
d) 
e) 

32. 2.5
50˚, 60˚, 70˚

33. 

a) 
b) 
c) 
d) 

34. 

a) 
b) 

c) 
d) 
e) 

35. 

200-300 300-400 400-500 500-600 600-700 700-800 

5 7 10 6 4 3 

a) 

b) 
c) 

d) 
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                            40o                                                                                                                   

                     A                                         20 െസ.മി                                  B 

36. 
60˚ 45˚

a) 
b) 
c) 

37. (1,3), (11, 3)

a) 
b) 
c) (6, 8)
d) 

38. ABC
 

∠A = 40˚,  ∠C = 100˚, AB = 20  
AC = 14 

a) ∠B
b) BC 
c) C AB 
d) ABC
e) ABC

sin 40˚ = 0.64  cos 40˚ = 0.76 
sin 50˚ = 0.76  cos 50˚ = 0.64 

39. 7 2 590

a) x
b) 

40. 

a) ‘r’
b) 
c) 

41. a)  A(6,4), B(10, 10) AB
b)  C(18, 22) BC
c)  A, B, C
d)
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  A (0, 8) . 
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P                                                                                       D                              Q 

42. A (0, 8), B(6,0)

a)
b)
c)

43. CD PQ, D

∠ACB = 50˚, ∠ABC = 70˚

a) ∠CAD 
b) ∠ADC 
c) ∠PDC 
d) ∠BAD 
e) ∠APQ 

 

44. AB, CD ∠ACD = x˚

a) ∠ABD  

b) ∠BDC
c) APD, BQC

d) APD 3 
BQC 7

 

45. a)

b)

c)

d)


